
Time: 3 Hours 

General Instructions: 

This qestton pIpcr is divded into sx ectios Sections B 

All questions ax compuison 
i Section A 

Class IX-Half Yearly Examination (2024-25) 
Social Seience (087) 

St. Paul's School 

Oiesions no l to 20 cay l mork each 

Sectien B-Ouestions no 2l to 24 ar ve short- mower thpe quetions, cryng 2 marks 

cach Answers to thexe guestions should nt exceed 40 worls 

Section C-Ouestions no 25 to 29 are short onswer ype que stions carrying 3 marke each 

Answers to these questtons should not exceed 60 words 

Section D - Ouest1ons o 30 to 33 ae long answer questions, crrying 5 marks euch 

Answers to cach qestion should not exceed 120 words. 

v Section E- Puestions no. 34 lo 36 are case-based questions with three suh-que stinns and 

ane of 4 marks each. 

, Section F- Question no. 37 is map-based, carrying 5 marks with two parts, 37a from History 

(2 marks) and 37b from Geography (3 marks). 

There is nO Overall choice in the question paper. However, internal choice has been provided in 

a few questions. Ony one of the choices in such questions has to be attempted. 

QL.H ldentify the appropriate reason for the Slave Trade in the 17th Century. 

(a) To grow exotic crops which were possible only in the Caribbean Islands. 

(b) Reluctance of Europeans to go and work in distant unfamiliar lands. 

(c) To declare their maritime strength. 
(d) To torture the Africans and force them to settle in empty lands. 

Section -A 

The Eastern Coastal plains along the Bay of Bengal consists of 

(a) The Himadri and the Himachal 

MM: 80 

(b) The Northern Circar and the Coromandel coast 

towns. 

(c) The Vindhya and the Satpura 
(d) The Ganga plain and the Brahmaputra plain 

castes 

Q3.E Assertion (A): Palampur is well connected with neighbouring villages and 

Reason (R): This village has about 480 families belonging to several different 

(a) Both A and R are true and R is the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

(b) Both A and R are true but R is not the correct explanation of A. 
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oG Which is the salt water lake in Rajasthan whose watet is uscd to make alt" 

(a) Kolleru lake 
(b) Sanblhar lake 
(c) Bhintal 
(d) loktak 
Who led the Militars CoIp in Pakistan im |999 

(a) Benazin Mhutt 
(clenez Mushanat 

(a) lstonia 

aodnp ezenhp le peple bckin Rvety 

finds it dilicut o getlhe ight t ote 

(c) Lithuania 

th) Nasaz Sharit 

Nelson Mandela served 

(b) 28 (a) 26 

(d) None ol these 

Mexico holds electtons ller eveN 

(a) 4 vears (b) S vcars 

th) Latvin 
() None of the above 

O8.E Whieh ane the sectors identified in the picture given helow? 

farmers. 

oekd its Iesent 

(d) 7 years 

Lenin believed tlhat farmers could not be part of socialist group because: 

(a) Farmers could not understand socialist concepts. 

(c) Land 

..... years in priso. 
(d) 31 (c) 30 

(b) Farnners were illiterate while workers were not. 

(c) Farnmers were not one tumited group. There were rich, poor and tenant 

(d) Farmers had no time for socialist movements. 

The clay used by a potter is what type ofa capital? 

(a) Working capital (b) Fixed capital 
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is a Sureme 
and also bemeen the cit7en and genment 

(a) DeTai righ 
ic)Constifulon 

French Revnlutien, 
Arrange the fellon ing in correct sequenee baed on the evente nf 

() Representatises of Third l stnte assembled at indoor tennis court 
oi)louis \\l ascended the throne of France 

(a) (u)4)4i) 

() Re cspiere fllowed a peles of control and punishment 

iAn agitated crowd stomed and destrosed the Hatille 

Options: 

(d) (in-)--) 

(h) -))) 

pomete education? 

that determine the retatenhip amng the citizen 

(a) 6 to 10 years 

Q14.E Which age gnup ofehildren does the Sarna Shiksha Ahhiyan aim to 

(c)6 to l4 ears 

(hFundamental ights 
(d writs 

Consider the statements given below and choosc the correct answer. 
Statement A: 1he All Russian Congress of Sovicls hecame the Parlianment 
of Russia aflcr the Revolution, 

Statement B: Russia became a multi party state afer the Revolution. 
(a) Statement A is corect. Statement B is incorrect. 

(b) Tamil Nadu 

(b) Statenment A is incorrect, Statement B is correct. 

(c) Gujarat 

India in 

(b) S to 12 years 

(c) Both Statements A and B arc incorrect. 

(d) Punjab 

(d) 7 to 12 years 

(d) Both Statements A and B are correct. 
Name the western most state of India whose capital is Gandhinagar. 
(a) Kamataka 

QI8� Give a simple example of: 

QrsP Motilal Nehru and eight othcr Congress leader had drafied a constitution of 
fthe Indian National Congress (193 1). 

(2) Karachi resolution 
(c) Ahmedabad resolution 

(e) An market economic activity 
(b) A non- market activity 

(b) Labore resolution 
(d) None of these 

The concept of 'reserved constituencies' in India is based on: 

(a) Religion (b) Gender (c) Caste (d) Political parties 

Q20P Which is not a sign of democratic elections? 

(a) Everyone should have one vote and every vote should have cqual value. 
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(h) lhere should he something to hone rum Partes snd candidates 

hould he ree to (ontest eetions and shnalLt .flet eme rral thoee t 

the soters 

(0efons mut he heldrrgular aftes esers fen veas 

Q26.E 

id) ia mt that the andidate re ferred hy the peple hld get elec tel 

022 State the relutionars Heas ot Wrk of n philkwphern during the 

Irench Revouton 

llon dd the Reoltionars iCrnment imprse the life of French womnen 

afer the Revouton" (ans twopnte 

023G llghlight ans two features of the Ilimalas n mountain of Inda 

OR 

W'hat makes clection a demctatic 

025.13 Fnlist the various deas for the socialist society accoding to the socialest in 

Eunope 

Section -( 

Discuss the following two non-farn activilies of Palampur 

D Dair 
) Transport 

Q{G Which ocean is named after India? Give reason as to why it was named after 

India. 

Q}&P Why should we accept the Constitution made by the Assembly more than 

seventy years ago? 

Q29E "Unemployment leads to wastage of manpower resource". Examine the 

statement and evaluate critically. 

names 

Section -D 

Q30.G Enumerate any 4 characteristic features of the Himalayan rivers. Write the 

es of any two major Himalayan rivers. 

OR 

Discuss any three significant diferences between the east flowing rivers and 

the west flowing rivers of the Peninsular platcau. Write any two cast flowing 

and two west lowing Peninsular rivers. 

031.H Explain the Stalin's collectivization programs. 
OR 

Describe the Bloody Sunday of 1905 and its impact. 

Q32.P. Updated voter's list is an important is linkecd to the first condition of a 

democratic election. Explain the statemcnt. 
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(alHo are children of edued purt dferet tm 
parents 

Q36.E 

(hi Why did lap emeryr deseged coury drsge ts pr r resource? 

SeetinnEiae hed questin 
Q4 H Read the soeree ginen heo an ansr the questints that f 

The lall of the acihn grs ernrent alled the eathier m5le tises 
SeVE poE A nen constitutin *ntrduced heh dered the re te 
hon-prope pertied sectinns of eies t prns sded for t elected legsltrt 
cOuncils These then appointed a Dircctor a exee utrve rede up nf fe 
members Ihis as mearnt as a afcguard agant the toc entratn of prret 
in a one-man exCCutne as under the acobins ewtver the Directes often 
clashcd uith the lcgislatitc counctls wh then ought to dimess hen The 
political instabilits of the Dirrtors paved the way for the rise of a miltary 
dictator. Napoleon Bonaparte 

(a) Who was the leader of the Jacobins? 
(b) What was the Director? 

(c) What lead to rise of Napoleon Bonaparte? 

Q3$.G Read the source given below and answer the questions that follow: 
Ihe northern plain has becn formed by the interplay of the thrce major river systems, namely the Indus, the Ganga and the Brahnaputra along with 

their tributarics. This plain is formed of alluvial soil. The deposition of 
alluvium in a vast basin lying at the foothills of the Himalaya over millions 
of ycars. formed this fertile plain. It sprcads over an arca of 7 lakh sq. km. 
The plain being about 2400 km long and 240 to 320 km broad, is a densely 
populated physiographic division. With a rich soil cover mbined with 
adequate water r supply and favourable climate it is agricuiturally a productive part of India. 

(a) ldentify the type of soil which is found in the Northern Plains. 
(b) Which is a denscly populatcd physiographic division of India? 
(c) Why is the Norhern Plain an agriculturally productive part of India?(2) 

ulll 

(2 

Sourcee Cnsus ofnda, Oee of kerar GenraL Inds 

Study the graph and answer the following questions: 
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(2) 

are 

w
onen 

less 

educated 

than 

men? 

Why 

(2) 

6) 

What 
are 
the 

benefits 
of education? 

M
ention 

any 

two. 

2 

Section 
-F(M

ap-based 
question) 

Two 

places 
(A

) 
and 
(B

) 

have 

been 

marked 
on 
the 

given 

political 

outline 

map of 

France. 

ldentify 

them
 

and 

wvrite 

their 

correct 

nam
es 

on 

the 

lines 

draw
n 

near 
thcm

. 

Q3Za. H
 

(A
) 

Focal 

point 
of the 

French 

Revolution. 

(B
) 

A
 

Port 
of France 

related 
to 

Slave 

Trade. 

3 

1) A
 

river 

(A
) 

has 

been 

m
arked 

on 
the 

given 

outline 

political 

map 
of India. 

identify 

and 

write 
its 

corrcct 

nam
e 

on 
the 

line 

draw
n 

near 
it. (1) 

G
 

2) 

On 

the 

sam
e 

outline 

m
ap 

of 

India 

locate 

and 

label 

any 

T
W

O
 

of the 

following 

with 

suitable 

sym
bols. 

(2) (i) 
Aravali 
range 

(ii) 

N
eighbouring 

country 
- Nepal 

(ii) 
Konkan 
coast 

(iv) 

Tam
il 

Nadu 

state 
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